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¢ Jalsilly y =

, ¥y =lx| daui) gy B ganal) ddkatall aabuukaﬁ(lu.u

1+x2

2

Q1) The area bounded by y = , ¥ = |x| isgiven by the integral?

1+x2
4) fOZ (lxl - 1+2x2) dx \ | J | //
B) foz (1+2x2 N |x|) dx

) I (= Il) dx

D) [ (1x1- ) dx

QS 3y =x , x=2+y? Aaulg dagiaall Alhaiall dalua el (200

Q2) The areaboundedby 3y=x , x=2+ y2 is given by the integral?

A) [[By-2+y>) dy
B) [[(-3y+2+y?) dy
0 [[By+2+y?) dy

D) [[By-2-y?) dy

$0<x<9 55l e A(x) = m(9x — x2) aad) ahiall dalua ga auaall aaa 33 (30
Q3) Find the volume of the solid with cross-sectional area A(x) =w(9x —x%) , 0<x<9 ?

A) E1t

B) —m

C) —m

D) 243m
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fxoedx y=Ilnx , y=0 , x=4 ’_QSJ\gMiMiQUJJ&«@LU\?#i#@w

Q4) Find the volume of the solid formed by revolving the region bounded by

y=Inx , y=0 , x=4 about x —axis ?

a) V=" dy —

B) V=[""(en? dy A
) v=[!Inx? dx ) R 4
D) V= [ n(nx)? dx

Cilbyiadial) g clagiiveally 33 gaaall Alkaiall (x) Jgaa Jdga Glos (pe Ul auaall aaa 33 (50w
S y=—x , y=-2 , x=0

Q5) Find the volume of the solid formed by revolving about x — axis to the region bounded by

y=—Vx , y=-2 , x=0 ?

4 2 4 2
A) V=mu[/(Vx) dx—m [ (-2)* dx

0
B) V=mn[,*?dy
0 Vznf:(tl—x) dx

4 2
D) V=m[/(Vx) dx
fanall aa L) ghuly) dilaa) aladialy Ly =5Jdss x =9 « x = (y—1)% — bagaaall ddhial) o) 449 ol (60

Q3) The region bounded by x = (y —1)? , x =9 isrotated about y = 5. Find the volume
produced by cylinderical shells?

A) v=["2n(5-O- -1 dy
B) V=['2m(5-y)[9- (-1 dy
0) V= [>2n(5-)[9- (-1 dy

D) V=[’2r(5-y)[9+ -1 dy

2021/2022 G sl jal) Juaadl) dilgd laia) adiia 12 cilualy ;51550 JS zdgad Shagy (o ad LAl
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¢ ESxSZ?” 3 AN Je y =In(sinx) sl Job s (70

Q7) Find the arc length y = In(sinx) on the interval

w3

st%" ¥

2m

A) [ esc?x dx
3

2n
B) [* V14 cotx dx
3

2n

€) Ja* esex dx
3
2m

D) [*V1+csc?x dx
3

C(x)ssxadss y=sinx, 0 <x <m A dada yei e balgiall o) dabisa Guuan) (80

Q8) Compute the surface area generated by rotating the functioncurve y=sinx , 0<x<m
about x — axis ?

A).S= f;Znsinxm dx
B) S= f;Znsinxm dx
C) S= f(;t21t cosxV1 + cos?x dx
D) §= f:Zn cosxV1 + sin?x dx

Adlslae Audes g8 385, 451 gay Juad) S 13) 1 e 60 Lagin a0l ((pagas (o Jun (alal Ais (9
fdal) Jsb cuald y=15(e%+e;_0) , —30<x<30

Q9) A rope is to be hung between two poles 60 meters apart. If the rope assumes the shape of the

catenary =15(e30 + e;_o , —30<x<30 Compute the length of the rope?
y

A) S=f_3:0 %eﬁ+ie_ﬁ+1 dx

B) S=f030 %+%eﬁ+%e_ﬁ+1 dx

C) S=f_3:0 %(e%+e_%+2) dx

X X 2
D) S=2f030 Ge%—ie_ﬁ) +1 dx
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v 6 ft/sec 4y Jiud aruad) a1 ¢ asuad A3gaall AS Al /(0) 5 Y(0) Alaiy) g pddl s (100
€30 ft guil)

Q10) Identify the initial conditions y(0) and y'(0) for the perpendicular motion of an object, if the
object drops down at 6 ft/sec from a height of 30 ft ?

4) y(0)= 30, y'(0)= -6
B) y(0)=0 , y'(0) = -6
C) y(0)= 30, y'(0) = 6
D) y(0) =0, y'(0) = 6
Jui Latie 5 Sl) g5 ) 22 140 ft/sec W8 A Aoy 5 ft gUEH (e LS 58N (@b J g oY aghy (110
e Cpil e @A ) Ay 8 €60 ft ain 3l dagl )
(BN 33a3 () Al 1) Aaleal) asdiaa) & ¢ () 4588Y) Aslaal) (o (Gadail) b g d3a s 7esali)
Q11) A baseball player shoots the ball horizontally from a height of 5 ft with an initial velocity of
140 ft/sec. Find the height of the ball when it reaches the home plate, away 60 ft ? Round the

answer to two decimal places. (Hint: determine the flight time from the horizontal equation (x) , then
use the vertical equation (y) to determine the height)

A) 2.33ft
B) 2.06 ft
C) 3.67ft
D) 2.67ft
¢ f(x —%)2 dx = = (120

1 1)\3
A) E(X——) +c
B) Y ox-—1+c
2 1
C) x —1+T+C

D) ——-2x——+c¢
X
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A) %ln|1—\/§|+c
B) —2In|1-./y|+c
¢) 2mn(1-.y)+c

D) 2Jy—-Inlyl+c

A) In(x*+2x+2)+c
B) Inlx+1|+c¢

C) tan"'(x+1)+c

1 1 X
D) —;+Eln|x|+5+c

Q15) Use integration by parts to find

A x'lmx—x1+c
B) —(nx+1) +c
€) ~(nx+1)+c

D) Inx+c

/

O 13
I am™ (
dx
fx2+2x+2 - = (140“
¢ [xZ2Inx dx= Aoy 55l Jalsil) ardin) (1504
x2Inx dx= ?
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1
i [ dy= =
A) %(1—lny)+c
B) —Inly+
) ymyte
1
C) —3—y3(4lny+1)+c
D) —%(lny+1)+c
¢ [sin20 cos 0 do = 2
2 3
A) — 3 ¢0s 0+c
2 3
B) 3€0s 0+c
C) sin?6 cosf + ¢
D) cos30+c
$ [ x6tan®(x” + 8) sec(x” + 8) dx = REN

A) %sec3(x7 +8) + ;sec(x7 +8)+c
B) %sec3(x7 +8) — ;sec(x7 +8)+c

0) 2—11tan3(x7 +8) + %tan(x7 +8)+c

D) 2—11tan3(x7 +8) — %tan(x7 +8)+c

2021/2022 ) sl i) Juadl) 4ilgd (lata) adiia 12 cibudly ) 5158 SR Zisad Shay i ad LG4
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A) %Vl—x2+c
B) 16V4—x?+c

0 %tanx2 +c

1 J16—x2
D) _R P +cC
(142) 2
2(1+4x%) 2
A) 329 +c
B) sec?0 +c

C) 2sec60—-1+c

D) sin(tan"lx) +c

A) 51n|§|+c
B) 5sin™?! G) +c

x2-4
2

C) 5In +§ +c

D) %x\/xz —4+c

2021/2022 GG sl ) Juall) gl cladial adiia 12 cladly ) b1 5e0 JS i gad Sy ol LA

jalshobaki.com

z dx =
(1+x2)2

Sa9dl) daan 212

(19

(20

(21




19

t [y dx= 2 (220
A) %ln|x|+ln|x—2| +c
B) %ln %l +c
C) In|x—2|+In|x|+c
D) %lnlx(x—z)l +c
y=—-y ¢« y4)=3 ¢ ad) JLdiall A1y o pdd) (g8as (Blaaal) Alalidl) Adslaall Ma aa (23

Q23) Find a solution to the given differential equation, satisfying the indicated initial condition?

y=-y , y& =3
A) y=4e ™3
B) y=3e*+4
C) y=e*+3
D) y=3e %

B 5 Y ) Lgal aB o g aS A 12 DA Ak 33 12,000 ) Wtiad Jua A A8 55 a S (2 gy (240
L) e 8 Y Ay dile o Jguaall

024) The bank offers to sell a bank note worth up to 12,000 AED within 12 years. How much should
you pay for it now if you want to get an 8% return on investment?

A) 925.93
B) 4594.71 .
C) 11,040 .0

D) 920 o4 3
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¢ y=x+y’x , y0)=1 IVP  lwa da 2 (2504

A) y=tanx
Bispor kaibn (%xz)
C) y=tan (%xz + %)

D) y=tan™! ze + %)

P Zlxilly 3:890L (U Jles as

b syl

Ly
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